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Reasons Why Fundamental Accounting Concept1 Test Fails 

IS9 

Comprehensive Income (Loss) = Comprehensive Income (Loss) Attributable to Parent + Comprehensive 

Income (Loss) Attributable to Noncontrolling Interest 

 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Comprehensive Income (Loss) 

 Comprehensive Income (Loss) Attributable to Parent 

 Comprehensive Income (Loss) Attributable to Noncontrolling Interest 

If a reporting entity has no income tax expense (benefit) line item then the value is imputed to be zero 

and then income (loss) from continuing operations before and after tax are the same values. 

Of a total 9679 financial reports examined, 9,483 reporting entities, 98% of the total, conformed to this 

relationship pattern.  A total of 196, 2% of that the total, do not conform to this pattern.  Of the 2% 

which did not conform to this relation, the following is a summary of the reasons: 

 Entered the reverse value for comprehensive income (loss) attributable to noncontrolling 

interest (approximately 61 reporting entities 31% that do not conform make this mistake) 

 Other issues 

 

 

Common reasons why test fails 

 

Entered the reverse value for comprehensive income (loss) attributable to noncontrolling interest 

The filing below shows comprehensive income (loss) attributable to noncontrolling interest.  See the 

income statement of this filing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=875045&accession_number=0000875045-14-

000016&xbrl_type=v#   

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=875045&accession_number=0000875045-14-000016&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=875045&accession_number=0000875045-14-000016&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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The fact was entered as a negative: 
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And then negated: 

 

 

 

This filer used the concept us-gaap:ComprehensiveIncomeNetOfTaxAttributableToNoncontrollingInterest to express 

other comprehensive income attributable to parent, noncontrolling interest, and total. 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1279228&accession_number=0001193125-10-

254151&xbrl_type=v#  

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1279228&accession_number=0001193125-10-254151&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1279228&accession_number=0001193125-10-254151&xbrl_type=v
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This filer is reporting comprehensive income attributable to parent and total using concepts which are 

not appropriate: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1066923&accession_number=0001213900-14-

005787&xbrl_type=v#  

 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1066923&accession_number=0001213900-14-005787&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1066923&accession_number=0001213900-14-005787&xbrl_type=v
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A variety of approaches are used to report comprehensive income.  Not sure if this is appropriate or not.  

However, if it is appropriate; that means that a concept is missing from the US GAAP XBRL Taxonomy 

(i.e. why did the filer need to create an extension concept for this high-level concept?) 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1381197&accession_number=0001381197-14-

000051&xbrl_type=v#  

Variety in approaches to reporting comprehensive income: 

 

 

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1381197&accession_number=0001381197-14-000051&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1381197&accession_number=0001381197-14-000051&xbrl_type=v
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To report the line item “Total comprehensive income attributable to SLM Corporation” the filer used the 

inappropriate concept us-gaap:OtherComprehensiveIncomeLossNetOfTaxPortionAttributableToParent  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1032033&accession_number=0001445305-14-

002855&xbrl_type=v#  

 

 

 

 

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1032033&accession_number=0001445305-14-002855&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1032033&accession_number=0001445305-14-002855&xbrl_type=v
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This filer reports comprehensive income attributable to noncontrolling interest yet they have no 

noncontrolling interest on their balance sheet: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1499684&accession_number=0001582718-14-

000144&xbrl_type=v# 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1499684&accession_number=0001582718-14-000144&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1499684&accession_number=0001582718-14-000144&xbrl_type=v

